31.

32.

33.

34.

3S.

BOTANY il
National Botanical Research Institute (NBRI) was located a 5
(1) Chennai (2) Lucknow (3) Shillong

3536 erDES 50y aSyelearseS (NBRI) & D 20T .

4
() 3 2) of) (3) agoh 4
In wheat, the Rust disease causing Puccinia belongs to thg t:tLE;SS
(1) Deuteromycetes | (2) Ascomyce s
(3) Basidiomycetes (4) Phycomyce

Fe58° H0%5 BrOensd LooliBD SIS & SEKDL DoLHD.
(1) &5e36To0eld 2) edPheld

3) BHABr DHeD (4) 335?23?055
Plants releases O: by Photosynthesis was discovered by

Coimbattore

s*opoerdsrd

JORSDS

(1) Stephen Hales (2) Linnaeus
(3) Joseph Priestly (4) Engelmann
$8eaesg 0@BrK 3’ Ko 0; M DA ENTS) THE
(1) %.37.‘,)5 33‘5;) (2) 623&0‘.‘1)5 C(3) & L?Jfgé 4)
The Living Fossil is
(1) Ginkgo (2) Sequoia (3) Pinus (4)
5 800 T°¢38° D8 B&S §ores0 ?
(1) &R05F° (2) o 3) WD (4)
Match the following :
Table-I Table-11

A. Runner I. Jasmine

B. Thom lI.  Euphorbia

C. Stolon I1I.  Oxalis

D. Phylloclade 1V. Agave

V. Bougainvillea
The correct match is

&e 308 T°e3D 225585508 ¢

Se3E-1 SeIE-11

A. 5H0 L &

B. S0, I1. o‘_‘m@ﬂa')ojy

C. oo M. es57yd%

D. 3@gsoLko V. eRS

V. &S 20asr
SOAWS ek
A BCD

G) LI TV @ v IIBL(I:: 0

4) Iv,1, 11, |
l6] ‘

36.

38.

39.

40.

41.

Syngamy occurs in water or external medium in

(1) Fungi (2) Bryophytes (3) Pteridophytes (4) Algae
&2 (308 O I HBTENE’ Hodkng SoBrHo A Sar eTTATNE0S” 2tHI ?
(1) $oR 2) (@BrPedy (3) E0& S 4) e

Anatropous ovule shows curvature
318 @008’ 5y0d 30 50

(1) 90° (2) 180° (3) 270° (4) 360°
Which of the following family members shows Geocarpy ?
(1) Solanaceae (2) Liliaceae (3) Fabaceae (4) Rutaceae
52 (308 O Hewoe InHEE” 2AFS Oy Bo° 41° 5050 EyoHH ?
(1) s3> (2) OOHY (G) >8 4) &r&Sd
Amyloplasts stores .
(1) Proteins (2) Carbohydrates (3) Oils (4) Fats
DE T Jog DAS
(1) &8y () sEHDE@ES) (@) Srdw 4) SHo
Match the following :
Table-I Table-I1
A. Toxins [.  Morphine
B. Lectins I Anthocyanins

C. Alkaloids [II. Abrin
D. Pigments IV. Vinblastin
V. Concanavalin, A
The correct match is

53 (808 T7°¢3D 238355308

Se3%-1 Se3E-11
A, &3Sy L 30y
B. 843, [l ©0FHAHAS,
C. soorow&y M. DS
D. 3Z (&S IV, IS eTe
V. FSo¥orardo, A
DOADS a3 :
ABCD ABCD
() LILIIL IV () ILIILIV, 1
(3) LILV,III 4 HLV, LI
DNA Replication takes place in _
(1) Giphase (2) Gz phase (3) S-phase (4) Go phase
DNA (583518 &2 808  $¥E e3tHiH ?
(1) G &% (2) G2 &% (3) S-&% (4) Go&¥
7] Turnover



42.

45.

46.

Collenchymatous hypodermis is present in .
(1) Monocot Stem P (2) Dicot Stem

- (3)  Dicot Root (4) Monocot Root

i}
5 (808 37¢36° BI0LD Kot Srmrosnd JG)GI eo51Ey 50 HOLID

(1) 55 Des sodso (2) 8% He sP0G0

(3) O&¥ Des I

Submerged rooted hydrophyte is
(1) Nelumbo (2) Nymphaea

ofiy55e30 308 De3E® 50INPoE 3wy,

@) HEsy des

(3) Vallisneria (4) Typha

(1) Jvos* 2) dodasr (3) TOxn0or 4 g

Among Sea water, Lake water, Salt water and Sucrose water which one has mammum

water potential ? _
(1) Seawater (2) Salt water (3) Sucrose water (4) Lake water

3B DD, 560y DD, 33y D A S Dhed® BISoH €S I ¥Ho
GOLOD ?

(1) [JS50E D (2) éfép A 3) $HE D (4) B0y QD
Whiptail disease in cauliflower is due to the deficiency of
595566 S6ae &Y ;@ A §'30 Sod Sy ?
(1) Mo (2) C (3) Cu (4) Zn
Match the following :
Table-1 Table-Il

A. Transferases L. Glutamine synthetase

B. Hydrolases . Argino succinase

C. Lyases I Malate dehydrogenase

D. Ligases IV.  Fructose 1,6-bisphosphatase

V. Hexokinase
The correct match is
&2 1300 TreID wSSGB04 ¢
Se3%-I Se3s-11

A, ErowlEe L ErDS oS

B. »&8fw L edF 583E

C. odhfw L 50865 4 TGS

D. 8hife V. ©5£1,6-0% F3y63eE

V. 23‘55?335
[OADS 238
ABCD AB

() LILV,IV @ Vvl
3) MLV, IV, II (4) V1,1V, 1)

47.

48.

49.

S50.

The primary CO: acceptor in C; plants is

C3 30KPE’ (@EDE COz 8G D8 7

(1) PEP | (2) ATP

(3) RUBP (4) NADP

What is the Respiratory Quotient (R.Q.) value of Oxalic acid ?
es98 &5i0 B0, T0AH §53065 (R.Q.) D0 oS ?

(1 4 | 2) 3
3) 2 4 |

Give an example of Short Day Plant (SDP).
(1) Cucumber (2) Maize
(3) Spinach (4) Soyabeans

(57902 S°OE I &S e
(1) ¥H%Hod (2) o E'S,
(3) 0 (4) A DD

Assertion (A) : Transformation was discovered by Frederick Griffith in Streptococcus
pneumoniae. |

Reason (R) : Transduction was discovered by Lederberg and Zinder in Salmonclia
typhimurium.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

B0 (A): REOE ADS iy SOSYSIND  RFYTES  HIPrAD  Jo
SR 6.

P00 (R) : BE60E DO 2085 wdy THHIND PR SHZTBDO
S0LH EHRTED.

(1) (A), (R) 3800359, (A) B (R) 3600 J98¢€3.

)  (A), (R) 550053, (A) K (R) SE00S ISTEd S°C.

(3) (A) 3500358 5° (R) S80S s°¢0.

(4)  (A)SB00SB S0 5D (R) SE0SB.

19] Turnover



S1.

32.

S3.

54.

§S.

Assertion (A) : Bacteriophage is rod shaped virus.

Reason (R) : The smallest virus is Parvo virus.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

380 (A) : OG> Hf 0SB SoGTSE .
0 (R) : 16 36% 5050 08 %) 365,

(1)  (A), (R) S0, (A) £ (R) 58008 JSea.

(2) (A), (R) SE00&8, (A) % (R) 58005 DS58es 5.
(3)  (A)SB0SO 5D (R) SRS S,

4)  (A) DE0NS T ° (R) HBwSH.

The genotypic ratio of monohybrid test cross is
8 BoKY 383 $08BEI0 @Bk, g K Ay

(1y 3:1 2) 1:2:1 3) 1:1 4 1:1:

The DNA of Escheritia coli has nucleotides :

DHONASr §'8 (E-coli) DNA & Sd@ar&&o oy

(1) 3.3x10%bp (2) 43x10%bp

(3) 4.6x10%bp (4) 5.6x10%bp

DNA fragments can be visualized by the addition of the following chemical :
(1) Silver lqdide (2) Ethidium bromide

(3) Magnesium sulphate (4) Calcium hydroxide

DNA 0GP0 Srderd$ o S2rahds Sogos’ egrtonso S 2

(1) o6 o@na& 2) JRdavo (DG

(3) Bafhhdﬁao ::635 4) Sgevile :J"’La‘gaa

Vitamin ‘A’ containing ‘Taipei’ is
(1) Transgenic Tomato (2) Tiansoeni
o genic Potato
(3) Transgenic Citrus (4) Tran sgenic Golden Rice

e A’ $30)BT SIS Taipei’ o6
(1) ey 30388 ¢S5 () 20 SO506 Joges’

Qj % éof
(3) a5 S05B D (4 esxos 5858 R8s 56 %o

[10]

56.  The immunosuppressive agent cyclosporin-A is obtained from

(1) Trichoderma polysporum
(3) Magnifera indica

(2) Funaria hygrometrica
(4) Lycopodium cernuum

B IEEES wlrdono SHoa Hod S0 ey PEIBS-A’ 8D 500D

OO ?
(1) |S5Goy 085
3) SRy pTe 304G

§7. Match the following :
Table-1 (Crop)

A. Wheat I,
B. Cow-pea 1.
C. Chillies 111.
D. Brassica V.

V.

The correct match is :
&e (308 T°eI 2EI5S0G

S35 -1 (Sodd)
YAt

©OVOS (K72D)
DTN

© 0 w »

[eTPos®

562?055 23¢9 :

ABCD
1)y LI, 1LV
3) IV.LV,II

58. Biodiesel is obtained from
(1) Potato and Tomato
(3) Jatropha and Pongamia

(2) RO T eI
(4) BEFAEADO LB

Table-11 (Variety)
Pusa Komal

Pusa Swarnim
Pusa Shubra
Himagin

Pusa Sadabahar

1563-11 (%0)

. > Ed
Il 2 3500 (5665 o)
. e DHE
IV. 2roAd
V. e dorased

ABCD
@) IV, 11111
@) V,ILIV,I

(2) Chlorella and Spirulina
(4) Brinjal and Chillies

2BrERSH &8y Dok K

(1) eres O E550eS”

2) gaq; DOAD NS

| (3) ee5°D SHBTsD Jrorrdir (4) S0 DO TS

[11]
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59.

61.

62.

63.

Assertion (A) : All the flowers of inflorescence are at the same height due to equal
length of pedicles is called Umbel. :

Reason (R) : Simple umbel in Coriandrum and compound umbel in Allium.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) -Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A)is false but (R) is true. |

D380 (A) : 100 D) IT§908° Py $Y0B e HIPS PEDIT HotHEd SO 8,
JLyw &8 RS Hotrow.

38890 (R) : S0Aroiod” iriSy 10510 $HBA DOADHoS® Soasmy 150 By
DT°5V0 HOLTOW.

(1) (A), (R) 380052, (A) % (R) 5800 s55es.

(2) (A), (R) 5500:59, (A) 9 (R) 58005 D560 5°¢%.

(3) (A) SBoNI 5°F (R) SBE0NSH 5°¢9.

(4)  (A) JBo0SO 5°¢H 5° (R) SB00SH.

Axile Placentation is found in
(1) Lemon (2) Argemone (3) Dianthus (4)

Mariegold
©3aD SOET V0N SFHSO
(1) 858 (y) (2) eQIrS
(3) &airose (4) B RS (2008)
Agave americana (century plant) generally flowers
SRS SO (¥ TOY 3n) HHYoHIs
() S0-100yrs (2) 10-30 yrs (3) 12yrs (4) 200 yrs
The plarft. which shows Apocarpous ovary is
(1) Michelia (2) Solanum (3) Allium (4) Citrus
ORV0AINE VOGFADHO ) 08,
() DPdas> (2) Feoeso 3) HDdavo 4) DD

How many Dicot families are described in Bentham and Hooker system of classification ?
Bogred HBan I8 5086 gisos’ Beesw bes e, 505 Jod ?
(1) 465 (2) 365 (3) 265 (4) 165

[12]

e P =

65S.

66.

67.

68.

69.

70.

Which of the following is a free living aerobic Nitrogen fixer ?
(1) Azotobacter (2) Clostridium (3) Bacillus (4) Rhodospirillum

g B S JIE T S S0, £ D8 2

() omSoss () TRA®O () @dgd 4) B&xdgo

Who worked on purple and green bacteria to understand the photosynthesis ?
(1) Carolus Von Niel (2) Linnaeus

(3) Ehrenberg (4) Louis Pasteur
$6eazdy Sodr $a o) oo IDEBEIL S0 HBA® eSS,

r§0CID 305 B IS 560 2

(1) S80S 35 | 2) OJHaoHod

() 6 o (4) erard FH
‘Zeatin’ is an example for |

(1) Auxins (2) Gibberellins (3) Cytokinins

(4) ABA
‘B05re3N’ @558 A8 TS :

(1) e38ydy (2) 22308, 3) TSy (4) ABA

Total number of nitrogen bases present in each turn of DNA double helix is
DNA 8 $8y0 do3£08" (38 DK $0H HoG S| 57070 Joz5 08 ?

() 10 (2) 20 (3) 30 (4) 40
Identify the plant in which number of seeds is not equal to that of fruits.
(1) Rice (2) Trndax (3) Apple (4) Mango
e (208 D 3w S0 IFT0 Vo, $0°0 JoPgE HIrBOT Hodi ?
(1) =0 ) AGTod (3) e @) Srd
Z-scheme of electron transport explains '
(1) Cyclic Electron Transport (2) Non-Cyclic Electron Tranqu:rt
(3) Oxidative Phosphorylation (4) Substrate level Phosphorylation
Z-5850 3 JoL';ES Sarer DS00WIE
(1) 238 (3da)dogs 8w 2) TS (@ﬁ@cﬁ));}ogs S
ot
(3) esdystse FImBBIS (4) o83 STy ow FIOBIS
tine link between Glycolysis and Kreb’s cycle is
’(l"lh)e c{;g;c b (2) PEP (3) Acetaldehyde (4) Acetyl Co-A
RSDHH 5005 B2 SOIDOO S

(1) PGA (2) PEP 3) ©rdTE (@) oSS Co-A

[13] Turnover



